5. 25T »
IR 4 AE

MK 2016-2017 ¥ EE - FHERERE
%k R AEER

WO SR 2 (32 228D
4

pil
dn

=48 LM EES

e I L I S A W I = AN AV I I~ P e
100

B
g | 18 | 15 | 21 | 21 | 14 | 11
e

-
N~

g5, 184

|
o
by
=
ar
b

In(1-x*=y*) . ..
Lz = Iy D= {0y <y <)
x-y

2. WP zfA A (=3, 1, —2), WP RN  x+3y=0

3. mtz=LEx=2, y=1, AX=0.1, Ay =—02 M 4HEY_ 542
X
A N__—0.125 .

4. Bl IR AR U

[y fooyydx= [lax toeyay

5. WATIRRY =5y + 6y = xe i EFHRER A yE = x(ax+b)e

(R 2) 32 WA % 1o e




MR RN 4, SR 154
LoAM,(2,3,1) 805 M, (2,7,4) mgEs MM, =( € ).

(A) 3 (B) 4 © 5 (D) 6

Y (xy)=(0,0)

2. wEGY) =1 X +y? . T f (X, ) 7E(0,0)4( D ).
0, (X, y)=(0,0)

(A) RS (B) fhi FHAELE

(C) I (D) XESE HLAR FHAFLE, (HATTiH

3. lim(X* + y*)sin ! =( D ).

Xx—0 X2 + y2
y—0
1
(A) 1 (B) 2 ©) 5 (D) 0

4. FIE IR EIKI KA

I, :Hln3(x+ y)dxdy, Izzjj(x+ y)Y dxdy, I, :jjsin3(x+ y)dxdy,
D D D

HAfDREHX=0, y=0, x+y:%, X+y=1HFk, W C ).

@A I<hL<l, @ L<L<Il, © l<lL<l, @© <l <l,

5. WOy AREXY —ylny =01@fEANC D ).

(A) y=ce” (B) y=¢" (C) y=cxe" (D) y=¢"

(R 2) 32 WA % F2m e m



=R RIS CREMELT 48, 362140
% Usi .0z

1. Wz=e sV, MuUu=Xy, V=X+Y, ;ka_
X

ﬁﬁ: @zg.a_u_{_@ @______3%\

OX oOu ox 6v'ax

=e'sinv-y+e"cosv-1------ 6 77

=eY[ysin(X+ Y)+cos(X+ Y)] . ------ 7 4%

2. Rz=03x>+y)™* E‘Jﬁ@%‘&%.

fift: Wu=3x>+y>, v=4x+2y, Mz=u".

gzv'u\kl’ g:uv'h]U7 au:6X7 @:4y """ 3/\
ou ov OX OX
@:gé—qug@=v-uV"-6x+uV-lnu-4 ------ 6 71
OX OU OX 0OV OX

= 6X(4X+2Y)BX + Y )P 1 403x + v InBXT + y?) -7 43

gy X z ‘ " . 07 07
3. R HFE—=In—Frfiemkamtiz=f (X, y) fkTH—, —.
z y Ox oy
o X |z
fid: WF(X,y,2)=—-In—, MIF(x,y,2)=0,
z y
ok 1 oF__yf_z|_ 1 oF__x_ yl1__x+z 4 4y
ox z0¢oy z\y') y oz ¥ zy 7’
MHARRER FAL, 5
oz_ F_ 2z a_ Kk 2 N

& F x+z oy FZ:y(x+z)'

z

(R 2) 32 WA % 3 e



O, M RAIEE RN 7 7, 3621 20

Lot [[xydo . SR D Rty =1, x=2Jy = X R X 8,
D

2
). iﬂﬁ”%dxdy, ot D S LR X2+ Y2 = 2 7 LA 1 A X s
D

figt: X3 D AR ﬁJ\BF'O'j—E<9<E, 0<r<2cos@, ------ 29

Hy dxdy ‘H: z;ns % rardo - [ d@j“"”sm Z.dr 4%

:J.5”2sin249d49 ------ 543
2

:E(Hcosze)dg:m ______ 74
Jaxod .
3. E&%ﬁ%:?ﬁ%}jldxjoz f(x’y)d“f}zdxj: o0y

e BB BB, J0SXSL 0SYsSN2X=X' 5
1<x<2, 0<y<2-x

AMERNOSY<], 1-41-y> <X<2-y, - 54
Jit A
1 2—
Jﬁﬁzjodyj'l_bf(x,y)dx. ------ 74y

(R 2) 32 WA % 406w



T WA FHIAE CRANET 4, 1440
g\ d d ‘
1.*Mﬁﬁﬁf+ﬁa¥:w—xmﬁ%

figt: SRR N

Su=2, y=ux, W _ ey R TR N
X dx dx

du u? du
U+x—=—, Bilx—=—- -3
dx u-1 d dx u-1 7

sowra (1o Dau e & i
%%QE%@TJW:%,%mﬂﬁ%

U-Inju|+C=In|x|, BlIn|xu|=u+C, --—-- 6 71

[Mmz%@%%%ﬁﬁ%ﬁ%%mwp%+o ...... 8 /)

2. sk raSY - 2Y ey i,
dx x+1

il SSRGS BLFF T AR (I fif -
d—y—iyzo:ﬂzz—dxzﬂnyzzln(xﬂ)ﬂnc:>y:C(x+1)2.
dx x+1 y x+l1

P& B 7 ERIE TR, 2 y=ux+D)’, NE
d—y:u’(x+1)2 +2U(X+1), = 5%
dx

/Tﬁ]\ﬁjjﬂ‘:ﬂnf’ ?%l“ U’ = (X+1)l/2 ’ ﬂe/[:lﬁj\’/r%l:u :§(X+1)3/2 +C s



I~ CRBH 11 43D

WO, AR A FERE, q, AF B IR RE, HFR KRN
q,=16-2p,+4p,, q,=20+4p,-10p,,

SRS BR R
C =3q, +20,,

Hp, p, A am AR B KIS, WM p,, P, BCRME I AT AR oK ?

fife: TR, WG RECH

R:p1q1+p2q2’ """ 297
T S ANE RN

L=R—C=ql(pl—3)+q2(p2—2)

=(P =3)(16-2p, +4p,) +(p, ~2)(20+4p, ~10p,) ------5 77
R SH, HFLHNE:

oL

—=14-4p +8p, =0, ------ 79
apl pl p2
i=28+8pl—20p2=0, ...... 9 43
op,

ML p, =63/2, p, =14 (ME—LE &) . HEUNHE p, = 63/2, p, =14 i FljiE a] ik
K, MK~ 8 g =9, q,=6.

CFEY FEME—BE AR, A e R RME. BLEfRE2 A E R,

CREeeaI12) 3224 A % % 6 70 3L 6

=



